agmRas "o (frdl i wr feogoft fafay) -

9. 1.
9. 2.
9. 3.
9. 4.
9. 5.

e wea (f5=df s $ S dfm)-

9. 1.
9. 2.
9. 3.

9. 4.
9. 5.

gug - 9
3x5=15

T F1 aef 3R A P FHLAS
ISTHIYT F BY H <l F TWOT W TR STfer
FreR o F fafdy PR R e siferu|
‘W' HEFT PT AR A 2] F ord|
FaCIH® ATETT § W91 I STNFIAT F91801
oS - |
3x15=45

BIITAR P 6 TR fJewane 1 guie a1

Hierrpret fa=<t &1 WlpT Far S 21 T HR

afera, da e qar AT P RAm & aged ooft $ Ieuta
ArferpRaT Pr el iR S R $0 & o aeafy som
2 oA fored|

IR S TEATT AT} 2 F SIS P T FEE 87

3. &Y. aRmafEe A TN TR USH 9 T B Jeg § frlRau
XY}

(i)

D130

I9g : 3.00 v

FfrergmRea® v (f5=dl gw el & sw difog)

q 9 49 9 d 49 49 9 49 39 49 939 9 9 4
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quif® : 70
s - F
10x1=10

&=t wafal arerdT quiETeT & IR fieH wR oIk o g §?
aoH iR Jgua 5 Faa §?

FTHY i & fbral a1 B $ AW

qferrpic & b2l IR TgE B & 9 ford|

AR Bleg TR | b YBR B WA §37

4. Yo Bt PR 59 o1a & g €2

TPl BT GPAR PA 5 Pl AT 22

T} Efee & o Fr wen §7

TeH’ fradt T T 27

10. AITCH & W adi H1 TF o)

11. SFRS v 358 Fad £7

12. FOR @ a1ef T B

13, fire AT & 95 W A1 ITer|
14. TR $T B A 19 Fa1 =TT 2
15, 3e¥Ac 47 87

(i) $I3.



Q. 7.

(iv} Theearth............ round. {be)
(v) The train had gone before | ........... station. {reach)
(vi} He ............ in this office since 1942, {(work)

Rewrite the following sentences in to passive voice.
(i} Sudhaknows the teacher.

{(ii) He gave me a book.

(iiy Do it.

(iv}] Who broke the glass.

{(v) He is playing cricket.

{vi} Shutthe door.

. Rewrite the followings sentences in to indirect speech.

(i} |said to Rana, "Do you write a letter?
(ii) Ram said to me, "l think Mohan is right.
(iii) Lata said to me, "You have taken my book.

(iv} The teacher said to me, "The earth moves round the sun."

(v) Kamala said to me, "Work hard if you want success."
(vi} He said to me, Why did you write a letter?

Q. 9. Write the definition of 'Adverb'. Describe its types with examples.

(1. 10.Describe the difference between "the indefinite article’ and 'the

definite article.'

Q. 10.How many 'Tenses' are there in English grammar? Give examples.

Q. 11.What is 'prepositions' and prepositional phrases'. Explain it with

examples.

(iv)

+00
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(i)

PAPER - Il : GENERAL ENGLISH

M.M. 70
Section 'A’
Q.1 Objective type questions {Choose correct answers) (Any ten)
1x10=10
Do you like tea? This is a/an....... sentence.
(a) Assertive (b} Interrogative
(c) Imperative {(d) Exclamatory
'How beautiful picture it is. This is a/an .......... sentence.

(i)

(iii)

(iv)

(v)

{vi)

(a) Assertive {(b) Interrogative

{c) Imperative {(d) Exclamatory

Which opition is the correct plural form of "foot"?

{a) Feet {b} Feets
{c) Foots (d) Foet
This story is............ by me last week.
(a) Write {b) Wrote
(c) Written (d) Writes
Taj Mahel is the most..........building in India.
{(a) Beautiful {b) More beautiful
(c) Beautifuler {d) X
Shah Jahan was fond........... marble.
(a) in (b) of
{c) to (d) off
(i) PT.O.



{vii)

(viii)

(ix)

(x)

{xi)

(xii)

(xiii)

{xiv) ......

{xv)

Please look........... the black board.
(a) at {b) to

{c) for {d) in

He often........... to school on time.
(a) go (b} goes
(c) going (d) gone
Ifl.verereeeeee.. @ Doctor. | would help you.
{a) was (b) were
(c) had been (d) being
reenrennnnes 15 @ bad habit.

(a) Smoking {b) Smoke
(c) Smokes {d) Smoked
Which one is correct?

(a) Your faithfully {(b) Your's faithfully
(c) Yours Faithfully {(d) Yous' faithfully.

He is going to......... cricket.

{(a) played {(b) playing

{c) play (d) plays

Sita is my sister.............lives in Jaipur.

(a) when {b) why

{c) who (d) which
e do you live?

(a) Who (b) Which

(c) When (d) Where

He is...........poor........ pay his school fees.

(a) so that {b) too-to

{c) to-too (d) as-as

(i)

{xvi} ..............knowledge is dangerous thing.

{(a) A little (b) Few
{c) The little {d) Some
(xvii}) Heis .............M.L.A.
(a) An (b) The
(c) A (d) X
{(xviii) Unless you help me. | can not do nothing. It is a kind of sentence.
{(a) Complex {b) Compound
{c) Simple {(d) Interrogative
(xix) Write the past participle form of the verb 'play'.
(a) To play {(b) Plays
{c) Played {(d) Playing
{xx) How many 'parts of speech’ are there in English?
(a) 5 (b) 10
{c) 3 (d) 8
Section 'B'
Short answer type questions (Any three) 3x5=15

Q. 2. What is the definition of 'Adjective’, explain it by examples.
Q. 3. What is the difference between 'conjunction' and 'interjections'.
Q. 4. Where should we use positive degree? Give examples.

Q. 5. What is the basic difference between the conjunctions 'As soon as’
and 'No sooner did.’

Section 'C'
Answer in detail {Any five) 5x9=45
Q. 6. Fillin the blanks the correct form of the verb.
(i} Mr. Gupta......... in bombay for five years.[Live)
(i) |............. a car yesterday. {purchase)
(iii) Mohan who........... hard all his life, is now sick. {Work)
(iii) PT.O.



9. 2.

9. 3.

9. 4.

9. 5.

9. 6.

TR 3k fheiR v dar &1 a9 20 7 R 30 *’RA & &1
Hpd & | S8 59 S1aR DI e & qemar @ 8 =7 A a9 =
i 32 39 DM BT ol 180 . fell 81 a1 Uedid Bl Aol o1

| / Mahaveer and Kishor can build a wall in 20 days and 30

days. They build this wall in 8 days with the help of Vikas. If they
get Rs. 180/- wages for this work then find the wages of each

one.

v Raci= aret 7 500 Raal 1.50 %. ufty 71 & &g | 9 9 50
RaciM g T | 99 I I 1.60 . URT 77 | 99 &7 | 9710 59

fram wiaera o aremn &1 ?-j | /A toy seller brought 500 toys at

the rate of Rs. 1.50 per item. 50 of them broke up and sold the
remaining at the rate of Rs. 1.60 per item. What profit or loss did

he got.

(a+2b) (a2-2ab+4b?) FT TR F@Te |

Find the multification of {(a+2b) (a*-2ab+4b?) .

TF JAPR &7 15 Hex o1 vd 8 Hiex g1 21 Iqd 97

TS UG AIST8 b AR U Hiex wiiel A1 a1 g3 & | AT
AIeT ST I |

A rectangular field of length 15m and breadth is 8 m. In middle
one meter wide path is made parallel to its length and breadth.
Find the area of path.

Ife fodfi AgeeR 3l $ Yol FH: 11 em., 60 cm. T 61
cm. B AT I 3TPRT BT &THA T DI |

If their is a triangular shape of side 11 cm., 60 cm and 61 cm then
find area of shape.

‘e
(iv)

132 Q. Paper Code : BPP0O3
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doer iRed v (d.didt)
T 1 : ARMHS iR
19 : 3.00 TR quif® : 70
oS - ‘A’ [ Section 'A’
fr=ferRad 99 & SR @-tF g § € - (P TH) 10x1=10

9. 1. $eF J Fu ared 2| / What is the mean of sentence?

¥. 2. ‘gf aui & & & @ T H a5t €17 39 A P AW e
ford Ifitis raining then their are clouds in Sky." Write the opposite

sentence of this sentence.
¥. 3. U Wdie 5 gu=a & ford foran Smam 27
For which set symbol U is written?
U. 4. T Ui G B i 82 /Which is the first natural number?
9. 5. 76832 & & IEE F S $H A1 27
Which is the tenth digit of 76832.
9. 6. 1000 & A97 ygfy ® ford | J/Write 1000 in roman numerals.
0.7, 17/3 3 B 49 § o= | / Write 17/3 in mixed fraction.
9. 8. Uiy HRemll & T 3 fead Awla ad )
How to symbolies the set of rational number.
9. 9. 81%F El"f’:m forE| /Write the root of 81.
9. 10. 3ita 5 TfemEt &t e Herem &1 97 o |
Write the formula to find the average of sum of numbers.

9. 11.5:6 " ‘WU’ ST F1 8? /Which is the second term in 5 ; 6?
9. 12. 13 :14 3 9 &y § ford I/ Write 13 : 14 in form of fraction.

(i) %$.9.3./PT.0.



9. 13.
9. 14.

¥ d d d 9 9

9 & 9 o

ALRTD U (FH1g UTa)

9. 1.

15.
16.
17.
18.
19.
20.

21.
22.
23.
24.
25.

1002 T TA WY H foIG | / Write 100? in simple form.

fp=el S o FEITaTl HT ISTEIW < |

Give any two example of square-number.

1A ST T BT el foRd 1/ Write the formula to find out the speed.
NI TR BT el ford |/ Write the formula to find out the distance.
HY oI frar pea %?/ What do you mean by purchase value.
bl f FEd € / What is the mean of capital sum.

Teh G THIRR0T fore |/Write the linear equation.

gis BT TR | 90° TF 130° BT DI F1 |

Draw the angle of 90° and 130° with the help of protector.
RN foe el 87 / What is the mean of triangle.

5 cm. BT QT TUS §91) | /Draw a line of 5 cm.

TR P fhd PpEd %?/ What is the mean of strait angle.
{HTg ﬁ‘ﬂ\_ﬂ 1 =’ TR | / Draw the digram of equilateral triangle.
100 o fefificr # s af A=SHier 8 87

How many squre centimeters are there in 100 square milimeter.

gus - ‘q° / Section 'B'

5x3=15
T o JA1 9o T BT 4.9 cm. TRl IFH a8 10 cm. 81 9eH &
?:P:QPTE[ESEW &A% ST HIRY I/ Avertical cylinder whose radius is

4.9cm. and hight is 10 cm. Find the total surface area of cylinder.

TS AFAgHS & A0l 6T T8 I 16 cm. TF 12 cm. § SHBT
AAPA ST BT |/Find the area of rhambus whose diagonals

length are 16 cm. and 12 cm.

(i)

T. 3. P,(x)= 2°+7x%- 5x +9 BT x-4 F AT &= R &Y AT 811 |

On dividing P_(x)= 2X+7x*- 5x +9 by x-4. What will be the remainder.
U. 4. 2a+3ab-5 U9 5a+7a%b+6 BT ARTHA S P |

Find the Sum of 2a+3a?b-5 and 5a+7a% b+6.
T. 5. 273, 364 &I a1 Ukiekd 82/ What percent is 273 of 364?
U.6. 60 @ 15% AT 40 BT 20% H fHaemT AW 1fers 872

Which value is greater 15% of 60 and 20% of 40.

T. 7. IR TP 9 d 91 60 ft/aver 8 a1 12 fiFe 5 o9 fahaet
ag H 1 If the speed of bus is 60 Km./H then how much

distance it will cover in 12 minute.
T.8 270%. B A BICH2:3:4 & U A dicl |
Dived Rs. 270/- of A,B,C in 2 : 3 : 4 ratio.

T.9. UG & & afs o1 aavd afqy x fbedt 397 & AFRGar T80
T & Al 98 gd ATRGAT BT GRN FT & |

Prove that if a adult person x embracement citizenship of a coun-

try then he have to leave his ex-citizenship.

Y. 10. ?II'FQ’m,n eN @ RIg N - m+m=2m

If m, n €N than prove that- m+m=2m
T us - | / Section 'C'
freraras ueT (H1g )

9. 1. g ™ f5- / Prove that- (i) pvag=qvp (ii) pAg =gnap

3x15=45

(iii) $.93. /PT.O.
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oo fiRe® wum (dh.dtdh.)
agef ud : AriSe faee

999 : 3.00 gue quiie : 70
T us - ‘31’ / Section 'A’

fr=rferRad 99l & SR U 9 IT P 9199 § € - (HIg 39)
10x1=10

g. 1. Uaq fbd ded €2/What is wind?
U. 2. ARd H FAfeP TER! $H A o HT §?
Which religion is in majority in India?
¥. 3. HIcled I SUM dF | 5T H /T 8?2
In which state is 'Kevala Deo National Park' situated?
U. 4. ST BT A9 9T A1 IUTEH ST DT 872
Which country is the biggest producer of Tea?
¥. 5. H9W YRNA dg AT 82 / Which is the oldest 'Veda'?
U 6. ¥Ie @ fodia g (1192 3.) foie ey gam ?
Who fought in Tarain's Second War in 1192 A.D.?
U, 7. ARd H el I B A1 HHA AP A G |
Who established 'Mugal Vansh' in India?
U.8. 1857 &I Hifd & FHI FRAT HT I+ B ofi?
Who was the queen of Jhansi at the time of 1857 rebellion?

Y. 9. 9 Tl &b 1 Ad1el & I forRau |

Write the hame of two leaders of 'Naram Dala.

(i) $.9.3./PT.0.



AEERICAS e (P uid)

q 49 49 o

10.

11.

12.

13.

14,

15.

16,

17.

18.

19.

20.

IRTEANT NI BT ~ed fae fosa e?

Who led the 'Non-cooperation movement'?

Q1 UIpfad FTeHT & A frRag |

Write the name of two natural resources.

IRT ¥ BT §F HHET 87/ Which is the Central Bank of India.
Jeefiepeur 1 T aref %?/What is the meaning of Globlization?
HETINT & T B 82 /Who is the composer of Mahabharata?
W g7 & 24 J e BiF 87

Who were the 24" Trithankar of Jain Religion?

e et & Feermue BH 87 /

Who was the founder of Sikh Religion?

S TN & FRATH BH AP

Who was the founder of Bramha Samaja?

e @ urey |ffy & ey F 9°

Who was the President of Draft Committee of Constitution?

G €29 DI USSR TS P AN b BT 87

What is the right proportion in breadth and length of the National Flag?
ST AT SR BT ST B fobaT TP

When was the National Women Commission established?

g - ‘g’ [ Section 'B'

5x3=15

9. 1. 99 TR feogof} foratl /Comment on Earth-quake.
9. 2. THEH TR R Hell R 1 forar |

Write a note on Gupta-age temple and architecture.

(ii)

g wew (g dF)

9. 1.
9. 2.
9. 3.

9. 4.
9. 5.

9. 6.

FHIN HI IJogd AT W o for@n

Write a note on 'Akbar's Rajput Policy.

& Fr R AU | /Write the characteristics of Bank.
dig g & IR ot FwT B 9 IR

Describe the four Arayan-truths of Buddhism.

aifean afRierr & Jeed ISy

Describe the aims of Non-violence Training.

ISR THdT F qIES q] BT AU PR

Describe the barrior-points in National-Unity.

YR R @ foral| / Write a note on Corruption.

JUs - ‘|’ [ Section 'C’
3x15=45

qRIAVSH P FIGT U9 AR IR & foral|
Write a note on structure and organization of environment.
HDHaIN BT &M il BT gui AT
Give a description of Akbar's religious-policy.
1857 &1 Hifd HI ITFAT] B PRI A8V
Give reasons of the failure of the rebellion of 1857.
§% & P BT U DI / Describe the works of Bank.
qeha Afdem & g Rt w1 g Hifm)
Describe the important merits of Indian Constitution.

YT TRPR GRT ST R & ST 61 quie Hif)

Write about the efforts of Indian Government to control
population-exploision.

(iii)
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daer MRS mum (ddhdh)

U9 99 : 9T fasm=

999 : 3.00 gue quiie : 70
T us - ‘31’ / Section 'A’

fr=rferRad 99l & SR U 9 IT P 9199 § € - (HIg 39)
Very Short Answer Type Question (Any Ten) 10x1=10

Rt A19 BT 7 A 82/ What is the formula of work?
et &1 fgcfia 79 T €2/ What is 11 law of motion?
€G-t Pl AT BT 3HTS AT 87/ What is the unit of sound?
B T BT &7/ What is focus?
g a1 £7/ What is refraction?
&R P8 Ped €2/ What is base?
BIET D FANTHT Tt %?/ What is the covalence of Carbon?
AR s 5 ped %?/ Homgenious mixtures are?
P o 2/ What is P2
0. UTRIE IT &b § THR 5 BRI Il 22

The process of cake making called?
U. 11. A foress @ e & aret ueref ®Y a1 e 87

Who changes Red Litmus into Blue?

9. 12. CH-O-CH, &1 IUPAC foTd? / Write IUPAC name of CH-O-CH.,.
. 13. gl Sfig S @1 fasde Tl 7 Fier 7 87

The whole kingdom is divided into.

9 49 d d d d 49 49499
= © ® N O O~ w0~

(i) $.9.3./PT.0.



9. 14. UIGY ST P fc GHET A qier T 87 ¥. 6. d-Selept & Tl b I 0 FT &7
Plant kingdome is divided into.......7 What are the important characteristics of elements of d-block?

b, 15. 99a P § o HHEAH B 87 _ _
How many chromosomes are there in human cell? . 7. PHEM® sf¥fpmel & wen raE Rigr o |

9 16. aﬂﬂTfQIﬂv_cﬂ ¥ fiams 3= &7 Explain motivation induction theory of organic reactions?

Who is father of Genetics? . .
Y. 8. T &b UPR FANI/ Write the types of stem?

T|ug - ‘T’ [ Section 'B'

AGIREAS 92 (H1g Ui9) Tug - |’ / Section 'C’
Short Answer Type Question (Any five) 5x3=15
e ueE odF1)/Essay Type Question (Any Three} 3 x 15=45

9. 1. 60 w P UH 9 UK 6 HUC SUAN foham Sl 8 | 929 G UF (i <fFT)/Essay Ty (Any )

o & wd i 7 sof $ gfae $it o Hifig ) 9. 1. A SOFE T BT Gl guie |

A bulb of 60 w used 6 hours per day . How many units its consume Explain Human Reproductive system with well labled diagram.

in one day? ¥. 2. U9 P GRE AT B Ui el

. Describe the structure of flower with well labled diagram.

g, 2. frad aiftes 907 i sraeadan st : 2 Kg S aret et avg g

BN 5 m? B R A TGNT P A AT 4 Kg THF areh awg B 2 Kg U 3. M & Hed PR Y SR Afed R |

2m? F R J gRT = §7? Explain first law of motion with suitable example.

In which more force will be applied : Displacing 2 Kg. item with g 4. a&f P Fiewr 3R amad aReh w feey ol |

the rate of 5 m or 4 Kg. item with the rate of 2m*? Write an essay on classification of elements & periodic table.
9. 3. 3Edel U0 eRT ufafarg Y F9ar 27 9. 5. waf W e =) / Write a note on sound.

How image form through concave mirror? '

U. 4. JEFS g7 FAT BT 27 / What is lonic bondage?

Y. 5. IER P R AgFT 87 Write Wesper's principle.

{ii) (iii)



